
Y3 – Autumn – Block 2 – Step 3 – Add 3-digit and 1-digit numbers – crossing 10 Answers

Question Answer

1

a) 192
Add the ones to get 12 ones.
Put 12 ones = 1 ten + 2 ones
Add 1 ten and 2 ones to 180

b) 354

2

a) 643
b) 251
c) 351

3

a) 301
b) 670
c) 432
d) 834

4

a)

b) 376 + 4 = 380             535 + 5 = 540
219 + 1 = 220             2 + 658 = 660

5

No.
When the ones digit of the 3-digit number and the 1-digit number add up to more than 10, 
then the tens digit in the 3-digit number will change, e.g. 456 + 7 = 463

6

a) 345 + 7 = 352
b) 725 + 6 = 731
c) 459 + 3 = 462
d) 9 + 179 = 188
e) 348 + 7 = 355
f) 315 + 8 = 323

7

possible answers:
917 + 8 = 925
918 + 7 = 925
197 + 8 = 205
198 + 7 = 205
781 + 9 = 790
789 + 1 = 790
871 + 9 = 880
879 + 1 = 880
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